THERMARTRU

DOORS
Fiber-Classic. & Smooth-Star.

WOOD OR COMPOSITE EDGE
OPAQUE FIBERGLASS SINGLE DOOR
w/ DIRECT SET SIDELITE(S)

INSWING
"NON-IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Fiberglass Door system described herein complies with the 2018 International
Residential Code (IRC}, Sections R301 & R609 and the 2018 International Building Code
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following conditions:

1.~ Anchors shall be as listed and spaced as shown in the details. Anchor embedment to
base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is required to be
protected with an impact resistant covering that complies with Section R301.2.1.2 of the
IRC and Section 1609.1.2 of the IBC.

3. Allowable design pressure requirements must be equal fo or less than the design pressure
rating shown in the design pressure chart, sheet 1 of this drawing.

4. Conditions not covered by this drawing are subject to further engineering analysis.
5. Fiber-Classic and Smooth-Star Door and Sidelite panels require the use of "J" part numbers.
These door and sidelite panels must be stained or painted within six months of installation.
TABLE OF CONTENTS
SHEET # | DESCRIPTION SHEET#
1 Typical Elevations, Design Pressures & General Notes ) Vertical Cross Sections
2 Door Panel Details 7 Frame Anchoring
3 Sidelite Panel Details 8 Hardware Details
4 Elevations 9 Bill of Materials & Components
5 Horizontal Cross Sections

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595
813.659.9197

Documents Prepored By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

11&\%_&30@‘}
ox X0
~—71.75" MAX O.A. FRAME WIDTH ——]
15.5" MAX. 37.75" MAX
FRAME WIDTH |"FRAME WIDTH l
‘ J J
<T
cf
55 | © ©
- X
S
/
1.5"
(TYP.)
2X DESIGN PRESSURE (PSF) DESIGN PRESSURE (PSF)
CONFIGURATION | REINFORCEMENT w/ FJ PINE JAMBS w/ COMPOSITE JAMBS
REQUIRED  ™55SITIVE | NEGATIVE | POSITIVE | NEGATIVE
NO +55.0 +35.0
X0, OX, OXO
YES +70.0 +60.0

%)
L)
=
B
A Lé"q
S =
20 -
ra Z
= o=
lin o =t
s | <©
23 |9 o
o 1= 3
] Li| 3
S 7
% <
3 S| &9
a by vt}
o) Bl &
® < o
n. [a
P
mn
)
pd
O
o
o
i
o
<
o
o
Z
patE: 1/06/21
sCALE:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
TX-5136

SHEET _ 1 oF _G

Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR XXX - 6'8, 7' & 8' Opaque FG Nonlmp 1S Dir Set Sidelites (TX 5134-5139\C - Drawings\TX-5136-37.dwg

© 2021 R.W. BUILDING CONSULTANTS INC.




Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR XXX - 6'8, 7 & 8 Opaque FG Nonlmp IS Dir Set Sidelites (TX 5134-5139\C - Drawings\TX-5136-37.dwg

" |t & —t { 1 R :\:‘&-‘%?“u—é 3:{:{ ll-i
12 EXTERIOR 2375 12 SRt by ;ﬁzgi j§ "
* NOTE: BOOK, HYBRID & U1 DOORS PR S AN LI
i MAY EACH BE FABRICATED ASWOOD | | 4, i5ie ol 8y 4B &7
N OR COMPOSITE EDGE DOORS. «ifu.%h S Jales =55 &t
208 Vizie SEEREE
* { \ %, H} : 3 280 33
’ \ G, 121 5 038 gt
'ﬂ""ni » >n
HINGE STILE INTERIOR LOCK BLOCK LOCK STILE x5 I Zoo b g
(ENGINEERED WOOD) 12.5" LONG (WOOD) (ENGINEERED WOOD) Tiaeded™ & oo &g
/1" HORIZONTAL CROSS SECTION 3 237 b
\_2_J WOOD EDGE R
1.2° 2 Bok gg
041" ——|  |=— EXTERIOR ~—1.875" " 2 oE
4‘-———’{— ‘ '2" ]“ 0.4] g § g E
E 3]
} IR R 11} N g g
) % ;
N
* il J' COMPOSITE .
CAP =
LOCK BLOCK e | =
COMPOSITE _ HINGE STLLE INTERIOR 12.5' LONG [WOOD) HIN\GE STILE 28 | &
(ENGINEERED WOOD) /" 2"\ HORIZONTAL CROSS SECTION [ENGINEERED WOOD) T |3y o
\_2_/ COMPOSITE EDGE I8 |3 2
Ea |3 &
SRS
36" MAX. DOOR __ 35813'"MAX.DOOR ___ 35.813' MAX. DOOR ____ 1 TOP RAL 5l = |x &
PANEL WIDTH PANEL WIDTH PANEL WIDTH (COMPOSITE) 2 N
zn TOP RAIL 1 2 5
2 v (COMPOSITE/ )
% ENGINEERED WOOD) 5 >
«Q S m
‘ ‘ {1 roamcore — ||.;
| | - (2 1 (POLYURETHANE - :
N ~ \g/ '<7 1.9 PCF MIN.)
)
S o 2 7
T . T . T i INTERIOR EXTERIOR INTERIOR EXTERIOR S
<C < <
Q. a. .
& 4 o) © ! 9, © ! —_—/
o O O o e ”_. ;
0 X T 0 X ®| al X ®
< < < - A "
= = = o i " 8 2
E i % @ 3 S S
“N? & S o ) 3
2 & & | rErGLASs SN — - -1 )
— BOTTOM RAIL e N.T.S.
WA (COMP.) L— L7 ‘J DWe. BY:  RW
cHk. B:  LFS
DRAWING NO.:
i b b 3"\ VERTICAL CROSS SECTION /"4 \ VERTICAL CROSS SECTION | Tx5136

. DOOR PANEL
BOOK

. DOOR PANEL
Hybrid Door

. DOOR PANEL WOOD EDGE
U1 Door \y

w COMPOSITE EDGE

SHEET _2 oF _9

© 2021 R.W. BuiLDING CONSULTANTS INC.



ui
o
112 —={  |=—1/2"GLASS BITE §§ 0 £
£ 3 4¥x
' By gn el
i W [+ N = oo~ Wk
f 4 g2 3T
PVC INSERT 85 28 53
G162 ~—— 1" O.A. THK. GLASS 57 S8 gk
BACKBEDDING 2o g%
Ww O
COMPOUND ™| 1/8" TEMPERED & LS o
GLASS —=|  |=—1/2" GLASS BITE S
2 256 B
= 18 GA. X 1" BRAD NAIL \ ti\ 83 § %%’
(LOCATED 1-1/2" FROM ENDS M o 2
& 4" O.C. THEREAFTER) > \ AR SPACE oV INSERT ; @ §§
/8" TEMPERED — 3/4" O.A. THK. GLASS 3 =©
BACKBEDDING GLASS BACKBEDDING 8
COMPOUND STEEL SPACER
/ 1"\ HORIZONTAL CROSS SECTION GLAZING STOP (7/16) GLASS .
3 GLAZING DETAIL 18 GA. X 1"BRAD NALL —___| S 3
N/ GV insuiated Giass {LOCATED 1-1/2" FROM ENDS S~ ARSPACE NS &
& 4" O.C. THEREAFTER) EQ =
1/8" TEMPERED Loy |s: §
15.5" MAX. BACKBEDDING — | GLASS %g g £
FRAME WIDTH COMPOUND STEEL SPACER e (B e
» 1t < ‘J
D.LO WIDTH GLAIING STOP (7/16") ol 21 B
=) O »
! / GLAZING DETAIL S i
,{// 3/4" Insulated Glass o o
’ >
om
AIR SPACE AIR SPACE
Lo 10 1/8" TEMPERED 1/8" TEMPERED 1/8" TEMPERED 1/8" TEMPERED
x < GLASS GLASS GLASS GLASS
o 9 \8/
r + @2
w O &
z 4 \ g # 2 %
€ 3 O EXTERIOR # INTERIOR 1" O.A. THK. GLASS —=1 - Sw 3/4" O.A. THK. GLASS 5w >
< < OF O5 ©
< = & &
s 4 STEEL SPACER = STEEL SPACER =
B & ~
> GLAIING STOP N _wm_i GLAZING STOP L *_*__i
(7/16) N (716
33 ‘ L
f ? Z
L] BACKBEDDING BACKBEDDING
/// SIDELITE COMPOUND SIDELITE COMPOUND %
/ e e ADAPTER ADAPTER
;P . pate: 1,/06/21
G1)GLAZING DETAIL G2) SLAZING DETAIL scAE N.T.S.
2 1" Insulated Glass 3/4" Insulated Glass DWG. BY: RW
CHK. BY: LFS
6:} /" 2\ VERTICAL CROSS SECTION e
@ DIRECT SET SIDELITE FRAME 3/ TX-5136
SHEET _3 oF _9

Z\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR XXX - 6'8, 7' & 8' Opaque FG Nonimp IS Dir Set Sidelites (TX 5134-5139)\C - Drawings\TX-5136-37.dwg

© 2021 rR.W. BuiLDING CONSULTANTS INC.



TONI SANVLINSNOD aNiaing "m's L 202

ZSBLL—d4 # NOUVMLSIOSM 40 ILVOILLNIO SNOISIATY :
SYIINIONI TYNOISSIONd 40 aQ¥vVoE SvX3L SNOLLYATT3 A8 4lvd JON 5 slzle| © 9_
LBL6'6S9°CL8 'ON Suoud : : ks
S6SEE “14 OSLIPA 0£Z Xo8 ‘O'd \Svg. KIANISSY 90 1avd W i = |5
"ONI ‘SINVLINSNOD ONIGTING b .. g J 4_
4000 SSYI19M38l4 T ol 5|2 ol
SZLYOL# "I'd SvxaL NAL—-VAYIHL g w o xlZ &
‘I'd IPIUYDS ‘4 UOPUAT  iAg padpdeld sjuswINoog 1ona0uEd HEIHEE &
’7/L
p——
3
L
28
o o
[T Y
vy N
M L
o o<
22
< <
2|88
LR|as
RS & .. ..
< = I
5 3|8
: FIEE
W Ao
(24
<
T
o~ ()
@ \ 2 ¢ | I
v m 2
S
N b g | &
&
ore

ELEVATION
)(@)

J
3
NG

O
////

C_ )
Hin=)

SEE HARDWARE CHART
e

4 ////
a0\
NS/

Similar opague panel configurations are allowed
Panels shown are for illustration and are representative only.

Fiber-Classic/Smooth-Star Door Panel Options
Products approved include all embossed and recessed panel doors.

ELEVATION
XO

BMp 2 £-9€1 §-XL\SBUIMELG - D\(BELS-FELS XL) SaNPPIS 195 1@ Si dwuoN O4 enbedO ,8 19 . '8.9 - XXX Ud - 1QL\sU} J0 3daq sexa) - g\ININVINYId ML BULIBYINSIUBYDNZ



'ONJ SLNVLINSNOD SNIaTNg "M'd L1202 §

268LL—d # NOUVHISIORM 40 3LVOLJLNIEO SNOISIAZY
SUTINION IYNOISSIAAOHd 4O AMvOE SVYX3L mzmﬁ%mom&mwmmo A8 31vd [ON Slolzln] o 9_
-aeg- . 2] L

LELE'6G9'EL8 I'ON 8uoyd : N M
S65C 14 OOLIBA OSZ X0 “O°d \5@. "KTENISSY 80 1uvd R
"ONI SLNVLINSNOD ONIaTINg SIS (B 5_

4000 SSV19d34ld =l Bl Ele ¥
SZIYOLF "I'd SYXAL NYL—VAYEHL ] m ol x|Z &
“I'd IPIUYOS 4 uopukl Ag pedpdedd sjuswnoog :10NA0Hd SISIEIS m 5

¢ A § mw

P ’, %

P . o

275 syl % W
Drvenadorsasaasvisronninsasiossastue ]
2 LOINHOS d NOONAT &

G... ............. rsaseEew $ ?.w

R ixe

.‘w% : ..mo ped

gt gt 5 RE 5
Nﬂﬂvw&. MO Fslulwnt.ﬂf

;:ﬁéi O y’

27

/"4 "\ HORIZONTAL CROSS SECTION

w Shown w/ Back-to-Back Jambs

OO0
\

: ] /— EXT. SHEATHING

2
EXTERIOR

/i

DS

A\

1
/" 2"\ HORIZONTAL CROSS SECTION

EXTERIOR
INTERIOR

S ® 3 Bee ™

/~3"\ HORIZONTAL CROSS SECTION

w Shown w/ 2X Reinforcement

.
SO0

m HORIZONTAL CROSS SECTION

NRe)
\\

mpc

EXT. SHEATHING 0.15" C-SINK
\ .-..1 =)

Bmp'2E-9€LS-X1\sBuUImeIQ - D\BELS-PELS XL) SPUIBPIS 195 1 SI dwjuoN 54 enbed0 .8 1 .2 ‘8.9 - XXX YA - 1QL\sul 40 1da@ sexa - S\LNINVINYId NiL BuIBY\SWSHD\'Z



TONT SANVATINSNGOD 9Nigiing "Mm'd L 202 @

Z88li—d4 # NOUVHISIOZM 40 3LVOIHLNIO SNOISIAZY
SYIINIONI WNOISSAAONd 40 Quvod SvXIL mzoa.%%mmm\m,omo A8 41vd TON Slalzlnl o 9_
cccar . 2] Ll
L6L6'6C'CLE "ON suoyd : Nt e
S6SCE "4 OOHIPA 082 Xof ‘O'd \a\w@ AATEWASSY 5O 1dvd % W - 4 0 s
*ONI ‘SINVLINSNOD ONIaTNg N z | 6_
¥00d SSY1943dld =l &g &2
SZLYOL# "I'd SvXIL NAL—YWEIHL @ m G| x| ]
‘Fd IPHUYOS *4 UOpuAT :Ag pedodedd sjuewinsog +10Naodd HEIHE m %
. i
2 o &
H Q =
7 QO O
z O =
" NN @@ 8
5 5
o - A
z | T p
= i 3]
< == =l
: , =l
\ ® V )

%
i
2
L
i
i
EXTERIOR

INTERIOR

¥/
7

/ 2"\ VERTICAL CROSS SECTION

-
DRYWALL—\
INTERIOR

EXTERIOR
() woop
G CONCRETE

7“3\ VERTICAL CROSS SECTION

2 AN
m — HIRITHEIITE =
< b
= 4 ﬁ L= 2
s RSN wy
5 = || B3 =
g e R ©
(274
o
2" p—
274
o} = @ =
& = Z e
— =z
62 o w
S 9 (®
v
(7]
[ 7]
& P
> O £ 2
- 8. o
T S 25
\ _m o9
ui 5o
> g
= oz o0
th O xI
& S QT
D Ol
®
0 X
F# o
m =
&
D= —
5> =
A

Bmp'2€-9€1L5-X1\sBumeIq - D\BELS-FELS X1) SBMPPIS 39S 41 S| duuoN 94 anbed ,8 19 .2 '8.9 - XXX ¥A - 1GL\su| J0 1daq sexa] - G\LNINVINYId NIL BULBYI\SIUBID\Z



Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TD! - DR XXX - 6'8, 7' & 8' Opaque FG Nonlmp IS Dir Set Sidelites (TX 5134-5139\C - Drawings\TX-5136-37.dwg

4" (TYP.)

g JAMEBS/
MULLION
£ (TYP) ——] |
""ﬂ £ (TYP)

!

HEAD & JAMBS
(TYP.)

_BACK-TO-BACK
2X REINF.

I
6" (TYP.) —-J -

I
!

15" MAX.
0.C. (TYP)

XO/OX

J—— 4—-—]"

(3) #8 X 2-1/2"
\/ PFH WS
O Y JAMB TO HEAD DETAIL
/i (TYP.)
/4
TOE-NAIL DETAIL @ HEAD
TYPICAL @ EACH 2X REINFORCEMENT
JAMBS/
) MULLION
m 4 (TYP)
4 (TYP.)
G . *
IERiiEE 11 | 1

a

_ — — —_ =3

HEAD & JAMBS e

/ (vP)
2X FRAMING _ _ _ )
(TYP.)
BACK-TO-BACK
g 2X REINF. T
e (TVP.) e
DOOR FRAME Z3
(TYP,) - - o woop  — - =&
0 CONCRETE ERAME
" vp)
—_ - SILL (TYP.) - -
| Nl | AHEE \
/ % —
WOOD @

FLOOR SUBSTRATE MATERIAL (TYP.)

CONCRETE (MIN. 3000 PSi)
WOOD (S.G. >=0.42)

FRAME ANCHORING

300/\
[t
]

TOE-NAIL DETAIL @ SILL

TYPICAL @ EACH 2X REINFORCEMENT

W

L

e o )

Bo o ©

ES o ]

5 oz

0 ui Om o

e 2 L5

u g%

c y e e - )

4 Pty 3

9 Z oo £

tr S to Q©

> Hso &

= o™
a>n@
ZOowm 5
on Q

) OnN o
O Xz

hel 0 L.
z

[ “

5 g%2 2

¢ 292 g

L o g

o ;J% il

e

[~

S g

po ]

3 =

O

o

CERTIFICATE OF REGISTRATION # F-—11852

)
S| 2
B | S
I P
=0 |3 8
ES p- <
o m
Lo =y
[V} 0
a9

U Tl Bt I v

5 14

2 o

S &

& &

>_
n
W
Z
)
2]
o
L)
<
a
o
Zz

oatE: 1,/06/21

SCAE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
T™X-5136

sHeer 7/ oF 9

© 2021 R.W. BUILDING CONSULTANTS INC.



CON SANVINSNGOD aNIaging "m'd 1L 202 @

ZSBLL=4 # NOILVMLSIORY JO FLVOIAILYEO SNOISIAZ -
SHIAANIONA TYNOISSI4ONd 40 QuVOS SVX3L SIVLIA THVYMaNYH AH 31vd [ON Slalzlo]l o 9_
cmear . n L
L6LE'6S9'CLE "ON 8uoud : Noelxla M
cocce Sr6SEOEIE TON oo \Sﬂ&. TKIGNISSY 40 10vd 8|z go|°
‘ONI *SINVLINSNOD ONIGTING N . z | 8_
400a SSY19434ld = (ElEle &2
SZLPOL# “I'd SVXIL NAL—YWIIHL g w | xl|Z &
‘F'd IPIUYDS "4 uopuk :Ag pedpdesq sjuswnooq :10NQ0Hd IR m 5
/274

o
5 5
[2'4
<<
- % o
e . [ =~ A_U
W,. LAWHOS 4 NOUONAT & w e
isessossesnaes FREIIIEIIIGRBIRERY "*‘anb\t = K
6%, ...Mﬂmu 2 Q
N £ D c.o
%»WN %h%\?: o IVAWV \:\.mﬂ. N oy
Nw \*\w.:::. ..... Vu&?
QT 40 B

NS TPy

A\
'%
\
W
HINGE DETAIL

o

e
©

gWVT 40 JOOA ANGAH/ LN
dOLWO4 821 L L ('dAL) .S2°62

GWVI 40 - YOO NOOoE
dOLWOU4 .52 L1 ('dAL) ST 6T

-

i

HINGE JAMB

SEE HINGE
DETAIL {TYP.)

—~— (S 7) .88'%¥
§'G —=

! (B
I v v T

STRIKE JAMB
Latch and Deadbolt

=
<
o
fa)

/\u
X
e
5
L
L1
v

janr
(o]
[~a]
a
]
a)
o8

3
w <
¥ I
S Q
P I~

o™ v
® 2 e
= < oc
o
& 2 5 5
s 5, &5
= 3|~ = 2% o)
P @l ® = Qo Q
N Qe <
o ! o WLl
o = Q

= S
! I
o
S

Bmp Le-9815-X1\sBuImeld - D\BELS-PELS X1) SSUBPIS 19 NI S| dwijuoN 94 anbedO 8 8 ./ '8,9 - XXX ¥ - 1QL\su] 40 1deQ sexaL - S\LNINVINYId ML eULBY \SIUaID\Z



—

¥
BILL OF MATERIALS o8 .
- . 3
EM# | DESCRIPTION MATERIAL e 456" o E < 2 E g
B | 2XBUCK (G >=0.42) WOOD " S d Gy ¢n gy
C  [1/4"MAX.SHIM SPACE - e —_—y U ‘ : wo o Zgb MY
D 1/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL \-/\———\ ‘ P § g % 82 25
F__ | #10X 2" PFH WOOD SCREW STEEL —— 50 558 e
L #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMBEDMENT) STEEL 2 c>> E g&;,
Q #10 X 3" PFH WOOD SCREW (1.75" MIN. EMBEDMENT) STEEL L—— 2.34" ———»’ & Ry g Eg
R | 3/16'X3-1/4"ITW CONCRETE SCREW STEEL 3 287 b,
X__| 2XREINFORCEMENT (3G = 0.55] WOOD (1400 JAME & 2 355 2w
1 WOOD JAMB (FINGER JOINT PINE ) wWOOD = i 4.56" -i ) @ m e o ég
2| COMPOSITE JAMB COMP 1 a 2 2 = e
7 WEATHERSTRIP FOAM : E :é: 8
8 DOOR SWEEP VINYL : - §
10 #10 X 1-1/2" PFH WOOD SCREW STEEL :
11 #12 X 1-1/2" PFH WOOD SCREW STEEL ; 212 *
22 #8 X 3/4" PFH WOOD SCREW STEEL
23| #9 X 3/4' PFH WOOD SCREW STEEL (2 yCOMPOSTE JAMS x| 9y
24 | #9 X 1"PFH WOOD SCREW STEEL 25 | ==z
25 #8 X 1-1/2" PFH WOOD SCREW STEEL 'Tm 5t E%
26 #8 X 5/8" PFH WOOD SCREW STEEL fé% 3 =%
27 | LATCH STRIKE PLATE STEEL ue |3 &8
28 DEADBOLT STRIKE PLATE STEEL 583" . "% 2 0%
28A | DEADBOLT SUB STRIKE PLATE STEEL g s o
29 4" X 4" HINGE STEEL a8 e
32 INSWING THRESHOLD ALUM/COMP g P
33 INSWING THRESHOLD wy/ SIDELITE ADAPTER ALUM/COMP >
40 DOOR PANEL (BOOK) - o
41 DOOR PANEL [HYBRID) -
42 DOOR PANEL (U1) -
32 INSWING THRESHOLD
Adjustable Composite Sill
n
z
2.08" —=| %
T 2
4
(] SIDELITE .
CONCRETE ANCHOR NOTES: m‘/ADAPTER 3
. Concrete anchor locations at the comers may be adjusted to maintain the min. ™
edge distance to mortar joints. Sonana o B
. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance fo mortar joints, additional concrete anchors 1w
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. 12
. Concrete anchor table: (o]
— TR T Ty NI T NS 5.83"
R R e 2 / 33 INSWING THRESHOLD w/ SIDELITE ADAPTER <
nw . . \ & Composite Sill bate: 1,/06/21
1apcon®| 14 1-3/4 z scuE:  N.T.S.
lireacons| V& | 1 v & owe. B RW
TAlPT::vON® sne 114 ¥ 172 ﬁ::&:: NO.: HS
WOOD SCREW INSTALLATION NOTES: ' TX—5136
. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws to prevent the splitting of wood. SHEET 9 oF _9

ZA\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TD! - DR XXX - 6'8, 7' & 8' Opaque FG Nonlmp IS Dir Set Sidelites (TX 5134-5139\C - Drawings\TX-5136-37.dwg

© 2021 R.W. BUILDING CONSULTANTS INC.



